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2x—13

If flx) =2 = and £,(x)=(/0 fo fo..... ntimes)(x), then f,,(x)=
JX= &
. Iy—=3 . e :
f(x) ~ &obckn f,(x)=(fo fo fo....n FE)(x) e, f,(x)=
Pl
Options :
2x-3
1. % 3x—2
2.¥ X
3x+2
3 % 2x+3
4. % S5 (X)
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f b
l+x

The domain of the real valued function f{(x)=fcos(sinx) A Cos™ 5 15
LY v A

TR Sreog R0 f(x) = feos(sinx) + Cos™ f L | G 9o
\ &X

Options :

.= (=L1)

o« [FL1]

3, ® R _(_]:]}

4. v L1
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For ne N, the largest positive integer that divides 81" +20n=1is k. If § is the sum of
all positive divisors of k then § - k=

neN & 81" 420n-1 &0 zrfod 185 &5 sd o k. k Tl o)
GiarEse 080 § wond, §- k=

Options :

1.« 117
2. % 130

3. %115



4. % 127
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A. B, C, D are square matrices such that A+DB is symmetric, A-DB is skew-
symmetric and D is the transpose of C,

-1 2 3 0 1 -2
If A=|4 3 -2|andC=|2 -1 0 |, thenthe matrix B+ D=
3 4 5 D 2 1|

A,B,C, D & SebdiH Sm@8en, A+B 2 3m@%, A-B JETaS
Sriesd SHBcin C Tk, S Siebiahadn D eodljedh I éied) Sri@gen

-1 2 1 0 1 -2
A=|4 3 2|00 C=(2 -1 0|®o& B+D=
3 4 3 0 2 1]
Options :
-1 6 3
6 2 =2
. xl3 -2 6
-1 6 3
3 I =2

3 3 -3
2 6 3
=2 3 2



Question Number : 5 Question Id : 3838232885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A is square matrix and A +1=2A, then A’ =

A 2.8 SO0 S BE 28050 A2 +1=2A ®ond, A’ =

Options :
1. % 8A* =TI
2. % 9A+8I

3.« 9A —8l

4 % SATHT]
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a* +b*
bt c c
¢
b +¢?
det a a =
a
5 b ¢t +a’

Options :

.« (a=b)(b=c)(c-a)

- (a+b)(b+c)(c+a)

3 % 2abc

4.« 4abc
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The system of simultaneous linear equations X=2V+32=4, 3x+y-22=7,

2x+3y+z=0 has

¥=2p432=4, 3x4+p-22=7, 2r43y+2=6 &7 2% H¥ e HESere

ISR

Options :

infinitely many solutions

1 % OR0HINA) TPQAIEN CsOEFON



no solution

QR CEOCCD

unique solution having z =2

3 % 2=2 P EOAS JBE A GOLNOd

unique solution having z = 4

4 v 2= )5 mEONS D38 QS G0N0
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If \/5—i15 =r(cos@+isind), —m <<, then r*(sec@+3cosec’d) =
JE—EJE =r(cos@+isinf), —-n<B< 1 ©ONB, r’(secd+3cosec’d) =

Options :
1. % 40
2. % 60

3. v 120

4 % 180
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Correct Marks : 1 Wrong Marks : 0
™

— i83
¥}

The point P denotes the complex number z=x+iy in the Argand plane. If

purely real number, then the equation of the locus of P is
4

a0l S00S Dot P a08dNons z=x+iy & Ard0d, = _; 2898

T D05 won P B0 Doch D Hansdeo

Options :

1% 2x* 42y —4x—y=0
5 v X+4y=2=0&(x,y) #(2,0)

L X—4y=2= 0&(x,y)#(2,0)

4 X4y —4x-2y=0
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n={=11f Arg(x)=2a, Arg()=3p

x and y are two complex numbers such that

T ; |
and a+f=—, then x'y' + — =
36 Xy

x.y 80 |¥=1]=1 esdhseath rr &) Bod H08d Homgen. Arg(x)=2a,

Arg(y)=3f SBain 111-'.!5’:% BONS, 1y 4 —l-—.:

Xy

Options :

1. % 0



5 % =
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One of the roots of the equation x'* +x" —x"—1=0 is

X427 = x7 =1=0 N8B0 B, SrererdS af Sredo

Options :

l+\/§!

1.% 2

J§—1+ J10-24/5

[

2. % 4 L

1—~/3i
3% 2

\[§+I+£1;‘l(}—2\[§

4.v 4 4

Question Number : 12 Question Id : 3838232892 Question Type : MCQ Option Shuffling : Yes
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If the quadratic equation 3x” +(2k+1)x—5k =0 has real and equal roots, then the
; | _

value of & such that ——<# <{) is

3"+ (2h+ x-Sk =0 ¢ HEEOETRE ST 0 Sareren God, — k<

Options:

—16++/255

1.¢ 2

—16—-+/255

2 % 2
2

3.8 3
3

4. % 5
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The equations 2% +ax=2=0 and X" + x4 2a=0 have exactly one common root.
If a#0, then one of the roots of the equation ax’ —4x-2a=0 is
ansteren 1 +ax-2=0 SH8a 1 +x+2a=00% Sdo0 2.8 &b

Sre0 SréD $ob. 4= 0eows, ar -dr-2a=058000 Buk;
Srered o8 Qroo

Options :

1. % 2

2. % —2

—4+Jﬁ

3. % 3

—2+\[2—2

4. 3
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. - 1 2 2 o
If @, 7 are the roots of the equation 2x" =317 +5x-7=0, then E:‘I e

' =3x +5x-T=0 H88m0 g Sreren a.f,7 wond, ) o' =
Options :

17
1.¢ 4

17

2.% 4
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The sum of two roots of the equation X' =x" =16x" +4x+48 =0 is zero. If
a, B, v, 0 are the roots of this equation, then &' + ' +y* +6"° =

X' =1 =165 +4x+48=05D088e0 @) Both suree) 0o M),
@, f, 7, 8 o0 & H08da0 T, JrerdBs, o'+ 1yt 18 =

Options :

1. % 123
2.« 369
3. % 132

4. % 396
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Correct Marks : 1 Wrong Marks : 0

The sum of all the 4-digit numbers formed by 1aking all the digits from 2, 3, 5,7
without repetition, 1s

2,3,5, 7008 82 e03ed SmE), o 803w JTosydo Job%om
JEBSHON 4 080 A0YLL @08 o

Options :

1. % 331122
2 % 123312
3. v 113322

4. % 132]32
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The number of ways in which 15 identical gold coins can be distributed among 3
persons such that each one gets atleast 3 gold coms 1s

Sy Sg8oersy 1D 2,808 00 3 O TEeN STILRDT 15 806
20T rBeM aooion dore How;

Options :
1, % 27

2« 28

3. % 22
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The number of all possible combinations of 4 letters which are taken from the letters
of the word ACCOMMODATION is

ACCOMMODATION 208 @ oo ok E&“ﬂ’),)_d SRR &
PCEe0Dh] @R AT Ho%;

Options :

1.+ 167
2 % 161
3. % 160

4. % 15?
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If "C,=C, and 2%+4C—f+6%+...+2n'(% =650, then "C, =

0 | 2 n=1

"C, =C, 080 25+4§+6C-‘+.+.+2n§“ =650 ©ows, "C, =

0 I 2 “n=1

Options :



1. % 25

2.+ 300

3. % 225

4. % 625
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(x—2Xx-73)

1 <2 eomachy r 1-}‘ 5 Fgy ared(Fed Duded’ ¥ o), Mo
=1 [.‘l’ 1

15

When [x <2 coefficient of 3 in the power series expansion of

Options :

1.% 6

2.« 36

25
3. % 216
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x' : Ax+B C ‘
= .n f(14)+2A-B=
f e =g - O Ty e S04)
x* .. Ax+B  C |
= 14)+2A-B=

Z+D(x=2) S(x)+ A5 +I_2 wons, f(14)
Options :
1.+ 5C
2. % 4C
3. % 6C
4. % 7C
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If the period of the function f(x) =2cos(3x+4)-3tan(2x-3)+3sin{5x) =T 5 &, then
flx)=2cos(3x+4)-3tan(2x - 3)+ Ssin(5x) - T [3hcho Ghog), b0 k wans,

Options :

sin

oo | =

1
2
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If tan A <0 and tan2A = —%, then cos6A =

tan A <0 SHBASY tan 2A :—-j: OO0, cosbA =

Options :
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Correct Marks : 1 Wrong Marks : 0
If mcos(@+ ) —ncos{a— B = meos{@— F)+ncos(a+ ), then tanatan § =
mcos| o + ﬁ' ) = a1 col o ﬁ’ | = meosl i I.!'ﬂ F i cos! a + ﬁ ) @08, Lan ¢ tan fi=

Options :

1. % m+n

2. % m—n

H

3. M

i
4. % h

Question Number : 25 Question Id : 3838232905 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time : 0
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The number of solutions of the equation sin76-sin 38 =sin 48 that lie in the interval (1,7} is
sin78-sin 30 =sin48 Hisdernd (0.7) moddod 4od Fdde How;

Options:

3 % 4



4.4 5

Question Number : 26 Question Id : 3838232906 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

2 T e
13 63

Cos l§+Sin'

Options :

L | N b | N

w
¥
SN

o X
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:N.A Think Time : N.A Minimum Instruction Time : 0
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If Cﬂsh"G}rSinh“ GJ:A—, then & =

Cosh ](%)+Sinh”(§):k eond, ek =



Options :

Question Number : 28 Question Id : 3838232908 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, if (a-b)’ cm’% +(a+by sm"{“: =a +b°, then cosA =

s F =]

2.5 L@a’iﬁﬂ ABC Eﬁ& (a—b) cos E-I—IH + .’Jj" sin’ I':= a- +h ®oNE, cosA =

Options :

1. % cosB
2. ® sinC
3.« sinB

4 % cosC
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: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a triangle ABC, if rr, +0r, =33, e+ =63 and rr +r1, =45, then 5=

2.3 (98030 ABC &S, rr, +1m, =35, rr +m =63 900 rr +m =45 s,
&9 0 18 =

Options :

1. % 28
2. % 25
3.« 21

4. % 36
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i—2j+k, 2i + J -k, - j—2k arethe position vectors of the vertices A, B, C of a
triangle ABC respectively. If D and E are the mid points of BC and CA respectively,
then the unit vector along DE I8

[-2j+k, 2T +7 -k, T -] -2k en St (@hao ABC G 77w AL B,
C® 3 abden. D B0 E en Stunmr BC 000k CA © Sigds Do
88, w9 DE Sond &od chrdd 36

Options :

%{3?—2}%5}

1. %



] - s _
e (] =3 2K)
> v A4
G =F=D
i

i{12?+3j+4;?}
4 % 13
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A veetor of magnitude J2 units along the internal bisector of the angle between the
vectors 21 =27 +k and 742742k is

=24k SOk T+27 42k D0 Lo o Twg) wosd

306 ;20 T2 F00d &), V2 Ahrd) HOIPEY) SO SO

Options :

1= J+k
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If @ is the angle between the vectors 47 — / +2k and 7 +37 -2k then sin20=
4 -F4+2k T +37-2k 0% i o § oo, sin2d=

Options :

B
. = V95

Question Number : 33 Question Id : 3838232913 Question Type : MCQ Option Shuffling : Yes
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i e T o = - ;

a.b,t are three vectors such that |a| =1, |h| =2J2,)¢|=5 and € is perpendicular to
W S A

the plane of @ and b , If the angle between the vectors 7 and b is 7 then

[a+b+2=

a,b,c e, |a =3,

b|=2V2,[¢|=35 eabstrt o B 7,b© Serdf ¢

QOROT HOGEID M) B) Srch HOFen. 7 BA b © Sy fio Fwo
T wond, :E+£_:+E| =

4 .

Options:

1% 53
2 % 245

3. % 10

4,#%/3

Question Number : 34 Question Id : 3838232914 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

It E,E.E are non-coplanar vectors and the points Ad L3h-F. i-Ab+ X,

3 +4h %, T —6h +6¢ are coplanar, then one of the values of 4 is

a,b.7 e eeddoh HBFen Hbatn 47 +3b -, a-4h +3¢, a+4b - Az,

i -6b +68 Docagen HSOTEE, wiych 1 Tg), dended 2.8 Dend

Options:

1. % 7
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The mean deviation about the mean for the following data 1s

508 S0FA8 @08 D500 Sgal’s a5l )TN0
Class interval
(580ed e006550)

Frequency

(PS8 oY§O)

0-2(2-4/4-6/6-8|8-10

Options:

1. % 2

15

2 % 13

22

3 % 13

20
4.+ 13
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When 2 dice are thrown, it is observed that the sum of the numbers appeared on the top
faces of both the dice 15 a prime number. Then the probability of having a multiple of
1 among the pair of numbers thus obtained 1
Bock aréos 800085 & Both POk & dnare d 83008
DOWLE TNB0 2.8 DS o B0, ser 038 Hogrdukod 3
G, foeiuo dodmns nogrds
Options :

8
1.v 15
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If 2 cards drawn at random from a well shuffled pack of 52 playing cards are from the
same suit, then the probability of getting a face card and a card having a prime
number 1§

2P 500 52 DéSugen do 2.4 HEE SHod oirdyDa%orr et Sod
WE aogzen &8 M (suit) $ONSTS, e’ 2,588 domein $ORN S8}
DT84 |erdnop; SORS Sn8) sharng Rogrdgs

Options :

8
1.% 13

2
2.« 13
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A dealer gets refrigerators from 3 different manutacturing companies C,, C, and C,,
25% of his stock is from C,, 35% from C, and 40% from C,. The percentages of
receiving defective refrigerators from C,C, and C, are 3%, 2%, 1% respectively. If a
refrigerator sold at random 15 found to be defective by a customer, then the probability
that 1t is from C, 1s

2.8 S%uch) 3 Jth & daird onnen C, €, C,0 ol Blaadid
srodhardd. e@dd) Gi8 &y esd C Sod 25%, C, Lod 3%, C,Hod
40% graryon. C,,C,.0,0 08 Sard SO0 Bihabitad St 3%, 2%,
1% s3aom. CEPEYD J80m el &8 OpaBed S') SR ) tum
28 AATrAicrdich HER, 8 C, Hod D)8 sodas dowrs e
Options :

29
1. % 37

2. % 37

14
3.« 37

15
4, % 37
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If the probability that a student selected at random from a particular college is good at
mathematics 15 0.6, then the probability of having two students who are good at
mathematics in a group of 8 students of that college standing in front of the college 1s

00D 28 frre H0d ardyd Eor Jods 285 4 Al fdso S
laraen) B Gotarnd Hogrdid 0.6 eons, fvrde Anodh Aeud ded) e
{rress Tood § 508 deride agodod, ad Doy fddod
Prae;B Godmas Noardges
Options :

2°x3* %7
1. 5§

2 %32 %7
3. % 5°

%3 %7
4.v 5
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If on an average 4 customers visit a shop in an hour, then the probability that more
than 2 customers visit the shop in a specific hour is

2.8 Kot 2.8 COTErR St Senlhith DTSN S0t
20006 2.8 fotyd 200 50T J5018 <00 DNTFHEEHeN & KISER)
oG8 0NmAE fey dosrde

Options:
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The centroid of a variable tangle ABC is at the distance of 3 units from the origin. If

A=(2.3) and B=(3,2), then the locus of C is

2.8 158073 |Bdhzo ABC GIng) Soit 2ra0 Srey Dot Sod 5 alirdd

&rdo & god. A=(23) bcnB=(32) wowd, C a8 oo

Options :

a circle of radius 225 units

1 % 225 GOPQL S50 O 208 S Bedn

a rectangular hyperbola
2. % 2.8 ©02) e DT DAV

a circle of diameter 30 units

3.« 30 AATAL T e Hdadw



an ellipse with eccentricity 3

) %ﬁ@?&ogﬁé m 50 2.8 &Y Hgedadn
4,
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When the origin is shified to the point (2,0) by translation of axes, the coordinates of
the point (¢,4) have changed to (6.8). When the origin is shifted to (a.0) by
ranslation of axes, if the transformed equation of x'+dw+y =0 is
X* 4+ 2HXY + Y2 +2GX + 2FY +C=0._ then 2H(G+F)=

Narosd af K856 oo Are Do (2,0) Dodag SOH Srd)
T (a.4) Dotus Mdrdsen (6.8)m droron. Lre Dodeys (a.h)
20065 SE% Arot @f H0STS oo Aty T 1+ + ' =0
NabdGeao Thog) Erarosd Hanédemo

X' +2HXY +Y' +2GX 4 2FY + C =0 @@, 2H(G+F)=

Options :

1. % C
2 % =2C
3. % 2C

4.¢ —C
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The slope of a line L passing through the point (=2,-3) is not defined, If the angle
between the lines L and ax—2y+3=0(a>0) is 45°, then the angle made by the
line x+ay—4=10 with positive X-axis in the anticlockwise direction is

(-2,-3) Hocay o SFEh HHY0D L 0oy e AdiDs0s . L
bty ar-2y+3=0(a>0) 8¢ Boer Ju¢h; o 45°eond, r+ay-4=0
O X-of08 6048 Tn fmo
Options:

E—Tan"'(-]—J
1.V 2
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(a,b) is the point of concurrency of the lines x-3y+3=0, kr+y+k=0 and
2ity-8=0, I the perpendicular distance from the origin to the line
L=ax-by+2k =0 is p, then the perpendicular distance from the point (2,3) to L=0
I8

v=3p+3=0, ke+y+k=0 Hbctn 20+ 1-8=0 Spe o8 Do (a.b).
Siredlothey dod L=ax-by+2k=082% e eoa drdo p s, (2,3)
Dot od L=0% o ©on &rdo

Options:

2
1. % 2

2. P
3. % 2P

4. % 3p
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If (4,3) and (1,-2) are the end points of a diagonal of a square, then the equation of
one of 1ts sides 15

&8 Sed|N0 Tg) 2.8 D80 wodidotuhen (4.3) Lol (1,-2)eone,
® S0 Bug; Hred L8 ol Adddeo

Options :

1w 4x+y-11=0



, % 2x+y=0

3 # 21‘"’3_}*"}'] ={}

4. .:{-‘_4‘1-’_'9 - U
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Area of the triangle bounded by the lines given by the equations

2 —20xp+7y =0 and X+y-1=0is
126 = 2000+ 7" = 0080k 1+ y-1=0 5088 oo 2 jdd Saod
a8 |@dhao tlus) FTelo
Options :

8

1. % 29
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If {L.1),{=2,2).42.=2) are 3 points on a circle S, then the perpendicular distance from
the centre of the circle § to the line x4y +1=0 is

Sad0 8 2 (L1(=2,2),(2,-2) e doreh Doty B8, S0 S B2ogy, Zoldo
ol Jx-dv+l=0 Bt fie o2 &Ft0

Options :

1
1.¢ 2

2. % 1
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If the line 4x—3y+p=0 (p+3>0) touches the circle x* + y* —dx+6y+4=0 ai
the point (k&) then A-2k=

X+ —dr+6v+4=05201 dx=-3y+p=0(p+3>0) 8¢ Bp (h.K)
DO S8 83937 h-2k =

Options:
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If the mverse pomnt of the point P(3,3) with respect 1o the circle

X +y —dx+4y+4=0is Qla,b), then a+5h=

v+ —dx+dy+4=0 Sy80 BpaFs P(3,3) Doty ), D58 Doty
Qla,b) @one a+5h=

Options :

1. % 4

2. % 0

3. v —4
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the equation of the transverse common tangent of the circles

1 ) = 4 : i)
4y =dx+6y+d=0and x° + v +2x-2v=-2=0is ar+by+e=0, then —=
r

1 ]

Xy —4x+6y+4=0 0l x+y +2r-2y-2=0 y=e a;5 e

%38 B SH0E8e00 ar+by+o=0 ecnd = =
L

Options :

4. —1
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Acirele S=x"+y +2gv+ 2 fy+6=0 cuts another circle x° + y* —6x-6y—-6=0
orthogonally. If the angle between the circles §=0 and &* + v +6x+6y+2=0 is
B0, then the radius of the circle §=0 is

280980 S=0' 4 +2gx+ 2 +6=008%5 Spdo x'+y —bx-By-6=00%
©0RTIGIC TAR0G. §=0000 1+ +6x+6y+2=0:5y8 i Two
60° smod, §=0 S8 Bug; TiRrgo

Options :



1.4 2

2. %1
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If m, and m. are the slopes of the direct common tangents drawn to the circles

v 4y =2x=8y+8=0and x"+3" -8x+13=0, then ny +m, =

4y =2-8p+8=0, 2 +y" -8r+15=085)2 e A 168 dadd )d)
O e m, DOk m, @ond, m, +m, =

Options :

4
1.¢ 5
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If (2,3} 15 the focus and x— y+3=0 15 the directrix of a parabola then the equation
of the tangent drawn at the vertex of the parabola is

2.8 Aordexalio Thudy D (2,3) 000 A B r-y+3=0 sand &
Hordedio k) 19850 S8 ADS 536; B Jdtno

Options :

| x X=y=2=0
z.JI—y-I-Z:(}
3 % X—y+5=0

4 2 X—=y=35=0
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The equation of the common tangent to the parabola y* =8x and the circle

e | | & , 2
CHy=2is artby+2=0. 1 - : >0, then 3a” +2h+1=
1

1 =8x ST RS 8GN X+ =25)F 08 o dand &8 Op

HnEGe0 ax+hy+2=0, - E}u eond. It +2b+1=

Options :



4.4 2
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Consider the parabola 25[(x—2)" +(y+5) 1=(x+4y-1)", match the characteristic
of this parabola given m List - [ with its corresponding tem in List-ll

OO0 25(e-21 +(y+5F = (Ox+4v-1) & S06doSed, e &
205 & Hrdecho Mg o) 2de-l S ook adihenom &)
®oio & addohod

List - | List - 1]
sred\zge _ | ard)e -l
| Vertex A |8
AW
[l length of latus rectum B | {20 -38)
TR0 G 0010 J
I | Darectrix C | Ix+4y-1=0
TN Jo
IV | One end of the latus rectum D | (=2 -16)
THo00 Thog; a8 88 L 578
E |6

The correct answer 18

588 DEFEPR0



Options :

. vI-B, 1II-E, 1I-C, IV-D

, x I-D, II-A, II-C, IV-B

3 = I-B, 1I-A, 1I-C, IV-D

4 % 1-D, II-B, II-C, IV-A
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If 6x—5y—20=0 is a normal to the ellipse x* + 3y =k, then k=
v 4317 =k B SR8 6x-5y-20=0 2.8 @de02) Oy wond, k=

Options:
1.%9
2 17

3. % 25

4.+ 37
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-

s i . _-,l"' -||' r
The point of intersection of two tangents drawn (o the hyperbola ——=—=1 lie on
a

the circle x* + ) =3. If these tangents are perpendicular to each other, then a =

-

ko

_-1? _ | 098 HTI00rad Hd Bodh 039; Tno 2o Doty
if

¥ 47 =5 380 2 s0od. S8 Dpen Hi )80 L1020 GOT a =
Options :

1. % 25

2.% 35

3.%9

4.4 3
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If the ratio of the perpendicular distances of a variable point P(x, y.z) from the X-

axis and from the YZ-plane is 2:3, then the equation of the locus of P is
X-295 0 dod dicin YZ-e0 dhod &8 08 Doday Plxy,z) § e oo
Srore Ra8 2:3 oond, P g} Dol dideso.

Options:

| 4" =9y" =92 =0



x X -4y’ —47% =

5 x 42 —4y*-972 =0

4 % X =9y"—47° =

Question Number : 59 Question Id : 3838232939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The direction cosines of two lines are connected by the relations /—m+n=0 and
2m=3mm+ni =0_1f # is the angle between these two lines, then cosf =

Boch O A5 SR eo [-m+n=0 SH0c50 2m—3mn +nl =083
JoDOTOD @ANorrRotindsd. 8 Bodh Boe et o § eond
cosd =

Options :

#®
|-
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A plane 7 passes through the points (3,1.2), (3.-4.6) and (7.0,-1), If pis the
perpendicular distance from the origin to the plane 7 and [, 11,0 are the direction
cosines of a normal to the plane «, then |3+ 2m+ 3n| =

(3,1,2), (3,-4,6),(7,0,-1) Dochvdye o oD .8 S0 7. Srododhsy
D0& 7éer fe voadrdo pabdn &00 7 Bng; &8 edwo Op A5
§om en fmn @ons,

H+2m+ 50| =
Options :
1. % 3p

2. % 2p

3.+ P

ra |
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3?\'111 X R 2!&[[! X
im———— =
x= S5INx
Options :

1. % 0
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COS ax —cos9x
If the function f(x)= 2
16 A x=0

A x#0

is continuous at x =0, then a =
=
J COSax —cosYx

=

Do f(x)= l X’

Cx 20 @00 )

_ 16 . x=0 @000 D
x=0 359 DD IS, a=
Options :
1. % £8
2.« 7
3 % *+6

4. % £5
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E}—ﬁx ,if 0<x<1
If f(x)=+ o |
= if x>1
(Vx-1
is a real valued function, then at x=1, f 1s
EE—G.T . 0<x<]l ®@ondy)ch
x
fo=1"
x-—1

g x>1  eocnd)ch
| VX —

2.8 3°Q65 PeS [DNANO AN IH x=158 1
Options:

continuous and differentiable

1 % DD )5 HOAN @SEOAODW

continuous but not differentiable

5 OV Y BW, TR @SEACHAW 5

neither continuous nor differentiable

3. % @D )0 57 HOAKN SOOI S

differentiable but not continuous

4 % BODEOAANDS, 57 VD) )eS) 0 57
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If 2x* —3xy+4y° +2x-3y+4=0, then [ﬁ) =
dx )3

2x" =3xp+4y* +2x-3y+4=0 000 [ﬂJ =
dx )32,

Options :

1.% =5

N
#*
~1| W

3. & —2

~1|ra
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I = 91'4 and y= ]6!; then d—]:
| +1 1 -t dx
=t 5805 y =t eond Y-
1 +1¢ | —1 dx
Options :

(i)
. x PAIES



16(1-1%)
5 = 91+t

911"
5 = 16(1+1%)

161444
9\ 1-¢

4.
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If y=sinax+cosbx then y"+b’y =

y =sinax+cosbx @ona® y"+b’y =
Options:

1. ¢ (b* —a*)sin ax

5 % (b*—a’)cosbx

5 % (@ —b*)tanax

4 % (b* —a’)cot bx
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The radius of a sphere 15 7 cm, If an error of (.08 sg.cm. is made in measuring it, then
the approximate ertor {in cubic cm) found in its volume 18

2,8 Fiefo Tk arrgio Tem r Fodadad. £ Foddo & 0.08

3. 20.80.0 G 2008, TR 0 205rE0S STSABS Gk (He
2000 ) GEronoyT

Options :

1.+ 0.28
2 % 0.32
3. % 0.96

4. % 0.098
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The curve y=x"—2x" +3x—4 intersects the horizontal line ¥ ==2 at the point
P(h,k). If the tangent drawn to this curve at P meets the X-axis at (x.. ), then x, =
y =2 +3-4 3|20, B edz Ddrosd O y==2 % Phk) S
OGN0, & SR8 P Dot SO ADS 036 B, X - gy (x,) S8
H.]Gt‘fﬁg L=

Options:

1. % 1



2.4 2

4, % =3
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A particle moving from a fixed point on a straight line travels a distance S metres in

tsec. If S=¢ ' —143, then the distance (in mts) travelled by the particle when it

comes to rest is

2.8 0% B9 D Ao 2.8 6 Dodus od vahen B85 2.4 $mo 1 REdeS

S sl Ardo Hairdiuod, S=1 11 -1+3 o8, ¥ ko Jie DS

ST)08)638 (Hairdods drdo (weds)

Options :
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It ,f.[I J=(2x=1)(3x+2)4x~3) is a real valued function defined on [‘; : ﬂ . then the

value(s) of "¢’ as defined in the statement of Rolle’s theorem

1

J1x)=(2x=1)(3x+ 2)4x-J) e aped sorerg |abaho [-l -} )

24
NSRS, B (Rolle) NS HSSN0S NG DoNRAS ‘¢ Tng)
I E0e(EX)
Options:

Does not exist

| % D59VH0 5°eH

TE+247
2.% 36

7 —~1247
3. 36

T ++247
4. 36
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_ o e e B (1+x r
If the interval in which the real valued function f(x)= Eugil— -2y-—— s
-1 ) 5

—X

decreasing in (a,h). where |.'f=--ﬂ| 15 maximum, then IE=

1

: (142 X ” -

f(x)= fug!k I—J—Er— - & TR dre; Hdbo [b-a $83
=

B

SEhieed &) (0,h) wosdod wsfrad %:
Options :

1.¢ —1
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j{u"] ~sinx +/1+sinx }:LT = f(x)+¢, where ¢ is the constant of integration. If

i ... Tk (&1 A 8
= <x<— and ;'|—- =2, then ,If|-~ =
2 2 V3 L 3

el

i(u‘ll ~sinx +q'r|+5jﬂ]'}.1.1' = f(x)+¢, ¢ Dries Yoo, 5—: <X {?T’T B ale VWY

J'“|:H?T =-2, wond f|:~:3£“;:



Options :

7. % 1
, w3

3.% 0

4. % —I

Question Number : 73 Question Id : 3838232953 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If f(,w;}:j dx and f(0)=0, then f(%):

siNn2x+2cosx
4sin’ x +Ssinx +1

sin2x+2cos x dr 80 f(0)=0 esond. _f(%):

f=|

Options:

4sin® x+5sinx+1

4, % 1
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(1—-4sin’ X)COSX 4
cos(3x+2)

Options :

(cos2)x— % (sin 2) log|sec(3x+2)|+¢
.

1.

(sin2)x — % (cos2)log|cos(3x+2)|+c

(sin2)x+ l (cos2)log
3. % 3

cos(3x+2)[+c

(cos2)x+ 1 (sin2)log
4. 3

sec(3x+2)[+c¢
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|.‘!_
ol
o
x +1

Options :

l Tan ' x - +cC
LJEJE V25

5> % log(x® +x7)—log(x’ +x)+log(x+1)+c
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n
limHH [)(H {J[Hi}..(l)} =
i n n n

Options :

1. % lﬁf.l

(m—4)

5 % 2log2-1

(fax—4)
4. % 2+¢
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3.« 287

ol
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Area of the region enclosed between the curves " =4(x+7) and y" =3{2-x) is

¥ =4{x+7) A0 ¥ =52-x) S5 Sl ssbodnds Frod 3Twl0

Options :

322



4 v 245
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If the slope of the tangent drawn at any point (¥, V) on the curve V= f(x) is

(6x° +10x=9) and f(2)=0, then f(-2)=

y= 1) Sigo 2 285 Dol (5,7} SO A )8; Op e (b +10x-9)
20 f(2)=0 mand@, f(-2)=

Options :

1.% 0
2.v 4
3 % —6

4 % —13
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The general solution of the differential equation (3x° - 2xp)dy+(y" - 2uy)de =0 is
(3 = Zepddy + (" — 2oy )l = 0 @380 QoGm0 Ting Wrrde G

Options :

p. 2
1% X —xy=c¢cy’



2 3
) % Y —Xy=cx

3w XY—X =cy

2 3
4 % Xp=y =cy
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Regarding fundamental forces in nature, the correct statement is
1DEHBEQ (PSS 22e7OF HOVOHOD) DOTS 50

Options :

electromagnetic forces are always attractive

1 % DCNIOOD)0eh 207N WY YT BEGE

electromagnetic forces are always repulsive
5 % DCNIEICNDRY 0 DETEN DV YT DESERD

gravitational forces are always attractive

3. v (A L5 0N DV YT B5QED

strong nuclear forces are always repulsive

4 % (D200 TOEE e D) IET DEFED
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The equation of motion of a damped oscillator is 2iven by m E ' ."}E +or=0.The

R

; 1 : . L
dimensional formula of —= 15

Jkm
28 @560 Bodo Tnd) Sud a0 m? b ? =0 355858,
i
fy
900, —— CR0E} Medah rdyer
M | '
Options :

- [MuLﬁTu]



[MLT? ]

2. %

- [M’L’T""‘]

L [MthT"l]

Question Number : 83 Question Id : 3838232963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A body 15 falling freely from the top of a tower of height 125 m. The distance covered
by the body during the last second of its motion 18 x % of the height of the tower. Then
X8

(Acceleration due to gravity =10 ms 4

125 m O Ky 2.8 Fmdo erfio ol 2.8 S Rz adchdy &
H0iresy OG0 REORS Sre HArHods drdo Jndo RS 1%
0N, X =

(foceb s & 16000 =10 ms™)
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1.%9
2.+ 36

3. % 25

4 % 49
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A body P 1s projecied at an angle of 30° with the honzontal and another body ) 15

projected at angle of 307 with the vertical. IT the ratio of the horizontal ranges of the

bodies P and Q) 15 1:2, then the ratio of the maximum heights reached by the bodies P

and () 15

2.8 a0y P §8a Jdroddod 30° Smo Tohudty by S S Q

8 2 o208 30° oo Faindty 1H8 2o Dabadad. P b Q Swdge

88z Darosd e Aagd 112 sons, P Hboh Q SGo IO [

Ve N e

Options:

1. ® 1:4

2« 1:6

3 % 2

4.%121
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A car is moving on circular track banked at an angle of 45°, If the maximum permissible
speed of the car to avoid slipping 15 twice the optimum speed of the car to avoid the
wear and tear of the tyres, then the coefficient of static friction between the wheels of
the ¢ar and the road 15

45° Seod Mty b3 18 HEed 178 D 8 o8 e 8.
2OH0T Gohes DO sddaoddl (Bh S8, 20 Bl edibde,

SHNGOSD Ardodhtdh Fh% e odirods S48 ddon, sowd
58 Sisede, Ftg Hids sndes o

Options :

1.% 0.3
2. % 0.5
3 % 04

4.+ 0.6
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A block of mass (0.3 kg is at rest on a horizontal table, The coefficient of kinetie friction
between the table and the block 15 0.2. If a horizontal force of 5 N 1s applied on the
block, the kinetic eneray of the block ina time of 45 15

(Acccleration due to gravity =10 ms )

0.5 kg |S:5507 fle 2.8 &) 2.8 §82 Hdrods 203 Mo vad Lok, ek,
Gl % 0638 Meve sldm Ledo 0.2, a3 a8 62 Marodd 200 SN 57
ooy, 45 ool &) faes 48

(Fooeh s & 165890 =10 ms ™)
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1. % 64
2. % 128 1]
3.« 256 ]

4. % 512
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The sphere A of mass m moving with a constant velocity hits another sphere B of mass

2m at rest. If the coefficient of restitution 15 0.4, the ratio of the velocities of the spheres

A and B after collision 15

NOFt08 HAFENS] m (33T fo 28 Mo A, Ve S &) m

555077 fiey o078 Figio B A AN 6. etsila 10680 0.4 s90nd, e0dirso

S A D00k B ivee Jre A e
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1. % 3:1
2 % 1:5

3.+ 1:7

4. % 4:1
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A solid sphere rolls down without slipping from the top of an inclined plane of height

18 m and angle of inclination 30°, The velocity of the sphere, when 1t reaches the

bottom of the plane is

(Acceleration due to gravity =10 ms™)

28 m o)e%) aB0 aren Bean 30° ) renddern 2 Auod 2.8 s Ao

2850 S 8. fgo, d00 B0d rmal Sdsh 638 ooh Jo

(Moo s & tdeo =10ms™)

Options :

1 ¢ 20ms™’
> % 28ms™

3. % 10ms :

4 % 14ms™
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Four identical particles cach of mass ‘'m’ are kept at the four comers of a square of side
"a’, It ong of the particies 1s removed, the shift m the position of the centre of mass 18
B0 0 e o8 ShdiHo Tent 900 SG 2,834,688 w8 o7 e rent
A0 10 SErodd o, 8 SR SO, (350 Soldo Ging aPdo
S S

Options:
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Ina time ", the amplitude of vibrations of a damped oscillator becomes half of its
initial value, then the mechanical energy of the oscillator decreases by

2.8 @560 Go¥o Thog) ond a0 1 Food R & fod S0ad
2o mowd, Bodo Gus) dirolad 18 & éihde

Options :
1. % 40%
2. % 2{]'0/0

3.+ 15%

4, % 50%
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The energy required to take a body from the surface of the carth to a height equal to
the radius of the earth 1s “W". The encrgy required to take this body trom the surface
of the earth to a height equal to twice the radius of the carth 15

Arendden ok 2.8 SAND ZFTIRrTNE Nalaae) o8 S8
Sehstad TR 45 W & S0 drandse hod drarrgal
Doy eSE aRuER Iyt sden 4
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A steel wire of length 3 m and a copper wire of length 2.2 m are connected end to end,
When the combination 18 stretched by a force, the net ¢longation 15 105 mm. Ifthe arca

of cross-section of each wire is6 mm”, then the load applied 1s

(Young's moduli of steel and copper are respectively 210" Nm ™ and 1.1¢10" Nm *)
3 m ErGgHe Gy e 2.8 T80 2.2 m £rtheg o o & 2.8 Tesko SO, &
HOTFIR0D 2.8 200 5o APHENS, HO8 rbde 1,05 mm. |58 & Gng;
SOFE0 Frogo 6 mm oo (HTFAods 200

(&%, Sobaio o abol fusasen St 2¢10" Nm* Sodotn 1.1x10" Nm™)

Options:

1.+ 180N
2. % 90N
3. % 135N

4. % 120N
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The height of water level in a tank of uniform cross-section i1s 5 m. The volume of the

water leaked in 5 s through a hole of area 2.4 mm” made at the bottom of the tank is
(Assume the level of the water i the tank remains constant and acceleration due to

aravity =10 ms™)

2508 Sl5Ec0 fio 28 SESR A &y 8 5 m. 5 Déod & &8 5d
27 24 mm’ BT oo fio 2.8 50150 Hob 58S A8 nsndarao

(SR D3 b0 Dorr &b O DTN Bty ke & sdeo=10ms”)
Options:

1.



% 90x10° m’

>« 120x10° m’

3 % 80x107° m’

4. % 40x10° m’
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The work done in increasing the diameter of & soap bubble from 2 cm to 4 ¢m 1
(Surface tension of soap solution =3.5x10° Nm ')

28 220 208 500 2 em 0 4 em & Doher% TabSens o)
(220 |CFSem beredaiged =3.5x107 Nm™')

Options:
1.% 528x107° ]
2. v 264x107° ]

3 % 132“)(]'[;'_'3 J

4. % 178x107° ]
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The temperature on a Fahrenhent temperature scale that 1s twice the temperature on a
Celsius temperature scale 1s

arOaard eefifiesrso 62 affiis, Ddchh e lerdrdo &R

craf |5 Bodosas, v adiie

Options:

. % 160 °F

2. % 240 DF

5.« 320 °F

4 = 480 °F
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The temperatures of equal masses of three different liquids A, B and C are 15 °C,
24.°C and 30 °C respectively, The resultant temperature when Liquids A and B are
mixed is 20 °C and when liquids B and C are mixed is 26 °C. Then the ratio of specific
heat capacities of the liquids A, B and C is

2,8 | SSsoraiie durdh DA (GSduen A, B oBadin C Sdam 15 °C, 24 °C SHbdiy
I0°C ¢ &eiy A 000 B |Gl dned §D0ad 596 g |fe 20 °C Lbdn
B shfcin C |Gasnesdh $05aa M s &if fid 26 °C sans A, B Sian Ce
(Coedelom AR Ao i ye

Options :

1. % 5:8:10



« 8:10:5
3. % 5:10:8

4. % 8:5:10
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The efficiency of a reversible heat engine working between two temperatures is S0%.
The coefiicient of performance of a refrigerator working between the same two
temperatures but in reverse direction 13

Boch &5 fide H6) SaTcndd) 28 &id080h &3 dioso Tug)
G4 50%. oF Goth affiiide S S0 B35 HRTcS) w8
5858 oholo Ty (Boired Hnso

Options :

1.¢1
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The total internal energy of 4 moles of a diatomic gas at a temperature of 27 “Cis
(Universal gas constant =831 Jmel™ K™')

2T°C e ie 54 4 Frde & 1a0Srmns arobiey Gnd) Judo wodod §8
(ard 8 oo woro¥o =831 Tmol' Ky

Options:

1. % 13.47 k]
2 % 498 kJ
3.« 24,93 kJ

4. % 14,96 kJ
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A car travelling &t a speed of 54 kmph towards a wall sounds horn of frequency
400 Hz. The dafference in the frequencies of two sounds, one received directly from the
car and other reflected from the wall noticed by a person standing between the car and
the wall 1s

(speed of sound in air is 335 ms™')

54 kmph 388 2.¢ A Sayeoly (Do) sl FUS Twd g san
400 Hz 7508 B0k e saehs Qen) e ad S8 o8 odk arédr
1Haroda &R Sbdhy Fid Dod Srhdso Todd G s KRoDd
Drdsayarie) Sochs 230

(PO 550 5 335 ms™)

Options :

1. % 35.9 Hz



2. % 20 Hz

3. % 70 Hz

Zero
i
4. oded” )
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The speed of 4 transverse wave in a stretched string “A’ is *v', Another string ‘B’ of
samc length and same radms 1s subjected to same tension. It the density of the materal
of the string "B’ 15 2% more than that of “A’, then the speed of the transverse wave 1n
string “B is

2.8 Aibiahadd e ‘A’ 5 BdE Sdol 58 v, of i, oF Frdo fio
88 o B of S8 % 00 Tohadsa. 86 B Ay vrolds af A’
Aroldeh $0% 2% ed¥0 mand, o ‘B’ € e o S

Options :

|« 104V

5 % J1.02 v
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For a combination of two convex lenses of focal lengths 'f;” and *f2" to act as a glass

slab, the distance of separation between them is

i 000 ' AreroaTren e 0o Soarsd SLHT A00irio &8 e

A3} |DS00dmng ard g trdo

Options:

S o
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If a ray of light passes through an equilateral prism such that the angle of incidence
and the angle of emergence are both equal to T0% of the angle of the prism, then the
angle of minimum deviation 1s

2.8 aar H6Z0 oo HFIcuS) 2.8 508 Edeo Tng), Hebed B0
S0y 2arTan To Dodr 3@ Atk Ternd 70% &3, $0a ddes
&0



Options :

. % 367
2. % 18°
3, % 42°

4.« 24°
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Young's double slit experiment 15 performed with monochromatic light of wavelength
6000 A, If the intensity of light at a point on the screen where path difference of 2000 A
is Iy and the intensity of light at a point on the screen where the path difference is 1000 A
is I, then 1.1,

Soft B0 6000 A fiey o S5 088 chofl ot O HEirio a0,
B2 H250 2000 A ey Dot S0 3o aSé I Hioak 86D HdEdo
1000 A fey Dodng S¢ 5o eildé 1 wons, [1,=

Options:
1*-'?1 :3
2.$ 2 :]

3.$l:l

4.%4:5
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Two positive point charges are separated by a distance of 4 m in air. [ the sum of the

two charges 18 36 uC and the electrostatic torce between them s (.18 N, then the bigger

charge is
Both & Do udTen oS 4 m drdod I Schudaow. Sok edre

3080 36uC DO T8 sy D8 S 200 0.18 N eond Wl sado
o8

Options :

. % 30uC

2 % 181.1(?
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Three capacitors of capacitances 10uF, 5 pF and 20uF are connected in series with

14V dc supply. The charge on 5 uF capacitor i

Sarams & 10pF, SuF 8c0 20uF fier etk Trnbd 36 28 14 Ve

NONTrE Senaubaron. SpFirued 2 ddmraio

Options :



| % 20puC
, v 40uC

4 % 2.8uC
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When the temperature of a wire 1s increased from 303 K to 336 K, the resistance of
the wire mereases by 10%. The temperature coefficient of resistance of the materal
of the wire is

2,8 &30 G185 303 K sbod 356 K 50 D00, off 2530 10% b, e
STy GRS 8 s

Options :
1w 2x107°C”
> x 2

3 x LIxl@?oC

4 % L1x107°C!
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Three resistors of resistances 10 €3, 20 £ and 30 £ are connected as shown in the
figure. If the points A, B and C are at potentials 10 V, 6 V and 5 V respectively, then
the ratio of the magnitudes of the currents through 10 € and 30 © resistors is

100, 20 Q 0050 30 0 ATGSwen fo Sirdh AT H80S Brnd
Sésorr endadaron. Hododen A, B 8akn € en S¢har 10V, 6 V Sbain
5V rRadhde 5O &), 100 5805 30 QNBEse P iT° |DSaroD
DS (Do abarTe Jdu)e

100
A AN
H_MM._-
Mo
c A
00
Options:
1. ® 1:3
2. % 44
3 % 12

Question Number : 108 Question Id : 3838232988 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



e .
A particle of charge 2 C is moving with a velocity of [EH 4§ |1115 'in the presence

a

5 . Y
i+2 j+34 |Tnndl]1c

of magnetic and electric fields. 1f the magnetic field is
b

electric field 1s

-2k |NC™', then the Lorentz foree on the particle is

i

1C &40 e 2.8 &eo |'J3}e 4jJ ms” Sod eoharo8 oo Add

B |Saned Sdhendid) 6. edbar,os §ldo [H 1;+3LJ T Bcko Dd

80| —2&] NC wond, $00 2 ST S'B0d avd
b

Options :

1. % 50N
> % 20N
3 « 30N

4 40N
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A rectangular coil of 400 turns and 10 m” area, carrying a current of (L5 A is placed in
a uniform magnetic field of | T such that the plane of the coil makes an angle of 60° with
the direction of the magnetic field. The initial moment of force acting on the coil in Nm
15

0.5 A D [Darero, 107 m? Brerso, 400 e fe 2.8 AF debdis e b
I T 508 wobar,os 580" 8ty duo edhar;os 3¢ &7 & 60° Fao
Tludtnr SoTd. ekl 5 Tokn 88 we (7o Nm &

Options :

VA

N
]
&l

3.¢1

V3
2

4. %
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The most exotic diamagnetic materials are

€9¢550¢4 PTG RN COOST OONTTN®) 0ed DI eN

Options :

Superconductors
1. ¥ QOSITSIT N

Semiconductors
5 % €Q TSN



Conductors
3. % &3%0°SPeN

Resistors

4 % DOEEEED
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Two circular coils of radii 1, and £, (r, <<t} are placed coaxially with their centers

comngiding. The mutual inductance of the arrangement 15

L O 1, FEFTED (1 << 1) de Bod S)FSE af bod 78

Solren 28AN0Ter HFE orr GO, & ®H0E Togy o) [Ros 0

Options :

2
J‘un ME

1% 2%

.i”u nrl rE

5 % 2(1,+1,)

b

ﬂnﬂ(r!—i_rf)
4% 20
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In a series LCR circuit, if the current leads the source voltage, then

2.8 383 LCR S00008 s 1570, 28 S92 50 Snoth &) 0

Options :

1 ¢ X=X
5 % X;_:}X(.
3 1 X=X #0
4 % X=X =0
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If the amplitude of the magnetic field part of a harmonic electromagnetic wave in
vacuum 15 270 nT, the amplitude of the electric field part of the wave is

ird50 & .8 e )8 Duidchar, o8 sdol eabar, o § (& artio
Soae HOe 270 nT esond, & ol DS § (& 2rfo Sorre Hbabed

Options :
1. % 90 NC™!

> « SINC

3 % 9NC*



4 % 30 NC
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If Planck's constant is 6.63%10 Js, then the slope of a graph drawn between cut off

voltage and frequency of mcident light in a photoclectric experiment 15

08 wor0d0 6.63x107 Js eond, 28§ D ko 2 Blh 28

DTFAOS 567D ST HBAN HSS T08 FBeyTie HS; A [Py e

Options :

1 ¢ 414 x10" Vs
> % 19.776 x 10" Vs
3 % 2.198 x 10" Vs

4 % 1.337x10"% Vs
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At room temperature, gaseous hydrogen is bombarded with a beam of electrons of
|3.6 eV energy. The series to which the emitted spectral line belongs w

HE e Teh S0 Ged) TS B EEm D 13.6 eV do|T 48 Jomo Jé
2500 TDardh. SErddons Sghey Bead SOAduoc (36
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Lyman series

o BDS (363

Balmer series

5 % 2700 363

Paschen series

3 x B0 (363

Ptund series

4 ® DO& (3€3
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The half-life of a radioactive substance is 12 minutes. The time gap between 28% decay
and $2% decay of the radioactive substance i

2.8 0A0rm0;8 Hrday ef Sad seo 12 daaren. JGRrerds Srdo
28% 5 aho onBaiy 82% 500 &@fMesy G SOl

Options :

6 minutes
1. % 6 Qodole)

18 minutes

2. % 18 Qaddaren

12 minutes

3. % 12 Qeddarren



24 minutes
4.+ 24 Qadaren)
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An element consists of a mixture of three isotopes A, B and C of masses m,, m, and

m; respectively. IF the relative abundances of the three isotopes A, B and C 15 in the

ratio 2:3:5, the average mass of the element 15

2,8 SPe%0 HEAMT m, m, SO8CH m: |S5Then SO St DS I A,
B u0cn C o $0&5 8. A, B H0din C o890 g Adydss
e 2:3:5 evomed, Aarerdo Fngy e (B sod

Options :

1 v 0.2m,; +0.3m, +0.5m,
5 % 2m; +3m, +5m,

53 % 0.4m, +0.6m, +m,

4w 4m, +6m, +10m,
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. - ' . . i [ . § = =
The concentration of electrons in an intrinsic semiconductor is 6x 10" m™ . On doping

with an impurity the electron concentration increases to 4x107°m™, In thermal
equilibrium, the concentration of the holes m the doped semiconductor 15

2855z eliTriod JoFSomds 6x10°m” . 28 208 Srdédao
T, JoTee mas 4x10°m™ S 20D, &2 Hhened, Jrditao
2008 edairiod dojmre MG

Options :

1. % lgxl{}_ﬂ t"l"l_3
2. % 1,5){10_? m_l

3 9x10° m™

210" m
4.% 3
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Three logic gates are connected as shown in the figure. If the inputs are A= and B=1,
then the values of v and y» respectively are

Sarehy ey o sore 0SS Arhd Ao Sendnddd. AaTen A=1 Sbadin
B=1 ©00 vi 0000 y2 ale0aien sl

A .

H—




Options :

1.% 0,0

2« 0,1

3. 1,0

a %11
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The heights of the transmitting and receiving antennas are 338 m and 648 m
respectively. The maxmum distance between the antennas for satsfactory
communication in line of sight mode is

(Radius of the earth = 6400 km)

(el o0k e sotiar) e JMen ST 33.8 m 00akn 64.8 m.
Sanber HEBS HosmEshd mardo S0 Bod sobarye S
Godden b drdo

(@rasardo = 6400 km)

Options :
1 % 20.8 km
, % 28.8km

3 v 49.6 km

4. ® 57.6 km
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Question Number : 121 Question Id : 3838233001 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

38382368
3

Online
Mandatory
40

40

40

Yes

0

1
38382368
Yes

null

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[dentify the pair of species having same energy from the following

(The number given in the bracket corresponds to principal quantum number (n)

in which the electron is present)

806 3 2.8 450 40A e 2otk Mosod

(1ZFSLOE R NODE, LTS & SORS 1S 1080 SO (1) &

ASVEATAVTaY

Options:



. » Hn=1),Li* (n=1)

, » i (n=3),Be’" (n=4)

5 « He'(n=1), Li"" (n=3)

4 % H(n=3),Li* (n=2)

Question Number : 122 Question Id : 3838233002 Question Type : MCQ Option Shuffling : Yes
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Which one of the following corresponds to the wavelength of line spectrum of H atom
in its Balmer series? (R = Rydberg constant)

S08 a3 D6, H H03rena) Gnd) Oar SPneos'n ardblb (386 ddo
285005 doofodlA? (R = 8620 porodadn)

Options :

9
1. % 8R

100
2.« 21R

23
3. % 24R

16
4. % 15R
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[dentify the pair of elements in which the number of s-electrons to p-electrons
ratio is 2:3

1808 208 HPesed BR0HOM -0 T DO p-DO|T Nope
DA 2:3 P &oenod HBohamn

Options :

2v/P, Ca

4% 0,8
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Which of the following has the least electron gain enthalpy?

808 5¢3¢S° BAE QOTS IPeTs DO ) EN0?

Options :

Chlorine

1.« 68



lodine

2. % PR

Oxygen
3 v 888

Sulphur
4 % OO0
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According to Fajan's rules, which of the following 1s not correct about covalent
character?

2 abare (D50, Addiraach 20l ©f o ddorr, 5ob o8S I8
OGNE Se?

Options :

.= KF<KI

, » LIF<KF

. % SnCl,< SnCl,

4. % NaCl < CuCl

Question Number : 126 Question Id : 3838233006 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0
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Consider the following pairs

508 23¢50>0 HOHESOTHN
Order Property
EINSINW) Ao PPN
A) NO, >0,>H,0 Bond angle
200 €0
B) HF > H,0 > NH, Dipole moment
AR{IAVNIEARS VR
C) L>E >N, Bond length
Alela¥ale]NW

Which of the above pairs are correctly matched?

2 20LOS DD DO 2e5DBI0AIN?

Options :

L% A/B&C

B & C only
Z.QB&C::)J“LEE&

A & C only
3 v A&C IS

A & B only
4 % A&B ISP
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:N.A Think Time : N.A Minimum Instruction Time : 0
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An open vessel containing air was heated from 27 °C to 727 °C. Some air was
expelled. What is the fraction of air remaining in the vessel!

(Assume air as an 1deal gas)

TS &) 28 BOD G0DS e 27 °C o 727 °C $6% 38 T
Fod rd) 20H0% I9HFo0d. FSS DA &Sy MmO ario Jod?
(POw &8 Tcinen) @S me)

Options:
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12 g of an element reacts with 32 g of oxygen. What 15 the equivalent weight of the
clement?

12 g 2.8 Sreddn 12 g o sfzd & ddiTodhd. & redo duersos
2F00 oJOeh?

Options:

1% 12



3. %4

4.v 3
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The standard enthalpy of formation (A:H®} of ammeonia is ~46.2kImol”. What is

the 8, H® of the following reaction?
N.(g)+3H.(g) — INH.(g)

Bl IO |edelTER pﬁui&m ﬂagﬁ"cﬁg (4 I-HQJ ~46.2kImol”" eondd’ 1308
$05% A, H® Joe? (g =)
N,(g) + 3H,(g) — 2NH, (g}

Options :
| % —46.2k]
> = +46.2Kk]

3 v —92.4K]

4 % —184.8kJ
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At T(K), K. for the reaction AQ,(g)+BO,(g)—=A0,(g) +BO{g) is 16. One
mole each of reactants and products are taken i a | L flask and heated to T(K), and
equilibrium is established, What is the equilibrium coneentration of BO (in mol L™')?
T(K) 38, AO: () + BO; (7) == AD: (&) + BO (F) 230550 K adenad 16,
258 S Fad (0e Balradsr) Sbdk 158 (Bdbamrdy 1L R
& S20FR T(K) S6% SATADH dderne 26808, ddevs 6 B0
rched (mol L' ©F) o ?

Options :

L w16

2 % 0.4

3 % 1.2

4. F {}8
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Observe the following reactions
I. H,O(/)+ 2Na (s) — 2NaOH (aq) + H,(g)

11. 2H,0(/) +2E,(g) >4H' (aq) + 4F (aq) + O,(g)

Identify the correct statement from the following

1B0& 5855 DBIO0THSIN

[. H2O (|&5) + 2Na (a0) — 2NaOH(23) + Hz (&°)

1. 2H20 ((&3) + 2F2(a°) —4H" (2) + 4F (2e) + Oz ()
1B0& 5°¢36S” HOTDN 553 8o

Options:

In both reaction 1 and reaction II, water i1s oxidized

1 % D85 108A% 385 11, BOB0E3S ™ A& €38 1¥800 ToBIE

In both reaction I and reaction IlI, water 1s reduced

5 % 6510805 585 11, BOAOE3S ™ A §OHESEI0 TOBSE

In reaction I water 1s reduced and 1n reaction I water 1s oxidized

BE5 TS A § 05H%BE0 TOASE B 588 11 & A @38 )88e90
3. ¢ BOONE

In reaction I water 1s oxidized and in reaction 11 water 1s reduced

H85 16" A €38 188620 TOOSE O 585 I S’ A § ahEdeo
4. % EROIATNA
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What is the correct stability order of KO,, RbO,, CsQO,?

KO,, RbO,, CsO, © ST DB 5 530550 & 2

Options :



1 = KO,<CsO,<RbO,
» = €s0,<KO,<RbO,
3 % Cs0,<RbO,<KO,

4 v KO,<RbO,<Cs0,
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Assertion (A): Mg0O, Ca0, SrO and BaO are insoluble in water

Reason  (R): In agueous medium the basic strength of MgO, Ca0, 510 and BaQ
mcreases with increase in the atomic number of metal

A0 (A) : Me0, Ca0, Sr0 DB Ba0 e D3’ Eiisy

g0 (R) 230 dirdgod, MgO, Ca0, $r0 00k Ba0 & 38 6850 &
8T o) DERS Fad hfbdod

The correct option among the following 15

& 308 pd sed KOO

Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
| % (A) 00050 (R) € HOTI. (A) & (R) SOTS DSSeD

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) B (R) €0 SBTI, T (A) 0 (R) HOTDS DHGED 5°¢0

(A) is correct but (R) is not correct
3 % (A) DODIA R (R) OIS 5°¢»



(A) 1s not correct but (R) is correct

4 v (A) SODDIS 59 R (R) HOBDIE
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[dentify the element for which +1 oxidation state is more stable than +3 oxidation
state

+3 @8 860 DAS Loty +1 8188 VNS’ obE VB 1o €6 &b
s 80 & 0o

Options:

1.33(.}::1

2. ® Sn

3.v Tl

4_23 GE

Question Number : 135 Question Id : 3838233015 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Observe the oxides CO, B,0O,, Si0O,, CO,, Al,O,, PbO,, T1,0O,

The number of acidic oxides in the list is

CO, B,0,, Si0,, CO,, ALO,, Pb0,, TL,0, &33& & HOZO0T80
& DTS &) B 8TIRO DoV



Options :

1.¢3

2. % 4
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The common components of photochemical smog are

503 SrAHS 0 S SOT TG BDNEISED
Options:

1. % O3, CHa, CO;

9 % O3, CO,, CO

3. ® Oz, SO3, PAN

4 v 03, NO, PAN
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Correct Marks : 1 Wrong Marks : 0
The electron displacement effect observed in the given structures is known as
1808 ATIETOS (0T O|TR TNIZ0F (Dar80 & dsbotrd

Options :

+ R effect
| % O BETS,) (D0

— R effect
5 208 BE'IS)) (D250

Electromeric effect
3 % OFTOE (Herso

— I effect
4 % QN WOIF (2270
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An alkene X (CHs) exhibits geometrical 1somensm, Oxidation of A with KMnQs | H'
gave Y. On heating sodium salt of Y with a mixture of NaOH and Ca0 gave 7. What is
A

28608 X (CaHy) S ST (HEBW0A. A 5 KMnOs | H' &

&38 \585e00 TADHm Y b 2008, Y Gus) FA0H0 ©5e0:5 NaOH SH8ak
Ca0 © |00 38 TR Z & ad 08, 267

Options :



. » CH,CH,

, » CH,CH,CH,

. % CH,CH,CH,CH,

4. v CH,
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The number of activating and deactivating groups of the following are respectively
508 a3S aSad D00 AHBEE HarFe HoB; SR
-OCH,CH, , -COCH,, -NHCOCH,, - COOCH,,-50,H

Options :
1 w2 3
2.% 3, 2

s xl, 4

4.% 4, 1
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Correct Marks : 1 Wrong Marks : 0

X and Z respectively in the following reaction sequence are
1BO& 5078 (5006 X 08050 Z e S
CH,—2>Y Sells 57 (major product)

AICT,

(RS €5¢b 1) 0)

Options :

HBr "

0
@)\
o™

HBr / ROOR
3. %

HBr / ROOR
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The molecular formula of & compound 15 AB,U,. Atoms of O form cep lattice,
Atoms of A (cation) occupy %!h of tetrahedral voids, Atoms of B (cation) occupy

a fraction of octahedral voids. What is the fraction of vacant octabhedral voids?
28 a0y smarther ABO,. 0 J8drmuden cp ZrosR)
D8 RFON A SErmn (SIS -5 Sod HEFIAS oo
&3 EOHER) 00, B DOSTERYED (SQOTS) 85 3rdS Solgred’ Fos
TP 88| ZabocE ) o, PO &) eF oGS dolgre aridiod ?

Options :
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Distilled water boils at 373,15 K and freezes at 273.15 K. A solution of glucose in
distilled water boals at 373,202 K. What 1s the freezing point (in k) of the same
solution’

(For water, K,=0.52Kkgmol ', K,= 1.86Kkgmol ')

108 2300 373,15 K $0 s0dofhéhod hBakn 273.15 K &5S sondladdio
Toosod (FEE D16 e (rdmdn 373,202 K 58 HBA08. & mmbnd
A8 W0 (K ©F') Jod?

(VeE38, K,=052Kkgmol '; K.= 186K kgmol ')

Options :
1 % 273.15
5 % 273.0

5 v 272.964

4 % 273.336
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Identify the correct statements from the following

A)  At2W K, the potential of hydrogen electrode placed in a solution of pH = 10),
5-039V

B)  The limiting molar conduetivity of Ca** and C1™ is 119 and 76 8§ em” mol”!
respectively. The limiting molar conductivity of CaClz is 195 S em” mol”

g _ 2303RT oK

cell oF &y

Cy  The correct relationship between K and EE“ is E

806 78S 23S argwsosd hbosed.

A) 298K &0, pH =10 fo |T8608S 500 3828 20§56 #80- 059 V

By (o 0ol O o @s08 drerd aurder oo Shom 119 580k
765 em’ mol”, CaCl: 308, ©wIOE Arerd 3388 10 195 S em” mol”!

C)  KeaBokn EZ © i) 0T Noaoma)) 8ot

S, = 1.33:;_RT ogk.

Options :

L%A,B,C

A, B only
2. i’ A.l, B :ljhl_éﬁj

A, C only
5 v A, C ST

B, C only
4 % B, CS»(ed
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: ; . l . e
For a first order reaction, a plot of In & {y-axis) and T (x=axis) pave the straight line
with slope equal to —10'k and intercept equal to 2,303 (on y-axis). What is the
activation energy (E, in kimol”) of the reaction?

(Given R=28314 Jmol'K")

L1505 K508 SB5. Ink (y-895.0) 00k }[ - %0) © 2 ADS
73 &5 0% D 3090, A8 e, ~10'k; @od:podiadan 2.303 (y-
80 2) @i 56 6828 48 (E, ) (Kmol”! o) Jos ?

(20358 R=8314 Imol'K")

Options :
1 v 8.314
5 % 2.303

3 % 2303

4 = 83.14
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Adsorption of a gas (A) on an adsorbent follows Freundlich adsorption isotherm. The
slope and intercept (on y-axis) of the isotherm are 0.5 and 1.0 respectively, What 18

. - r
the value of —, when the pressure of the gas (A) is 100 atm?
m

28 @dTan odfane ok adug (A) Frowodn edian
Nare Omed artiocdad. i On e Hbohn @oé:nodiddwen

SERT 0.5, 10 y-250 2). 00 (A) 565550 100 atm ©008, — Devs
i)

ol

Options :

1.% ]O

2. % 1

4 % 1000
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A low boiling point metal contains high boiling point metal as mpunty. The correct

refining method is

2.8 80 200888 Ao fie Sarod @8 rhdidd aro fe 5o

SHOSOT a6, Sorny DO Tokw ABTed Dped T

Options:

Liquation
1 % O DR800



Distillation

S v B 35855

Poling
3. % &FOoh

Vapour phase refining
4 % 2P PSP FESSM
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Which of the following when subjected to thermal decomposition will liberate
dinitrogen?

(1) sodium mitrate

(11) ammonium dichromate

(111) barium azide

206 ¢3S F63N) GAITrio TN BRIERS Jevdtoch?

(i) Fdabo JEaed

(i) @RrAcHo G5 DS

(i) 238cho eB6

Options :
i, i only

1. % 1, 11 &'EJ“LéfD

i, 111 only

3w iy il S5



4 s i, i, dii
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Observe the following reaction. This reaction represents
1BOB 95530 DOFD0TNXW. & 985 DIQOTHIE

CuCly .
4HCI + 0, —==2— 2Cl,+ 2H,0

Options :

van Arkel process

| % o 80O HOS

Hall — Heroult process

, % O -WED HPe

Serpeck’s process

s % DEDE HSD

Deacon’s process

4 v BES HPe
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Identify the set which is not correctly matched in the following
1B0A ¢3S O S HOT BS$TAH2SSE HOoTHSD

Options :

PH,, colourless gas, rotten fish smell

1 % PH;, 301 B &raine), S0P B 708

Cl,, greenish yellow gas, pungent smell
5 % Cly, @802 DY TAiNeY, TS 7S

Ne, fluorescent green gas, rotten egg smell

3 v Ne, &FE0E S8RI) P00, S0Pocd SR e

SO, , colourless gas, pungent smell

4 % S0,, B0MH B 7 AMMY, AT T TS
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Identify the correct statements from the following
(1) Ti{IV} 15 more stable than Ti(LLl} and Ta(1)
(11) Among 3d - series elements (from £ = 22 to 29) only copper has positive
reduction potential (M~ ;’M]
(111) Both 5¢ and Zn exhibit +1 oxidation state
808 58S HBTLS e Hbothdn
(i) Ti (1), Ti(l) © 53¢y Ti (IV) @68 p8H0
(i) 3d - 38 drosod (Z =22 S0 29) £Hb SrSwh dard ¥ §ahiden
3510 (M M) & $O0 Gotnod

(iv)  Se.Znen Bodr +1 w8 8¢ pad 8o



Options :
i, i only

| o 1, 11 O[S

1, 111 only

5 % 1y il S0

ii, iii only

4 % iy i, i

Question Number : 151 Question Id : 3838233031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The molecular formula of a coordinate complex is CoH,,0,CL,. When one mole of

this aqueous solution of complex is reacted with excess of aqueous AgNO, solution,
three moles of AUl was formed. What is the correct formula of the complex?

2.8 de0ed 10 NOTR0 @ew artozer Col ,0,Cl, . & HoTo g 28 ard
B |[TfTed) @08 AgND, 20 Lm*nﬁméméﬁ St oDt St Irde
ApCl 635086, Hogay STS rder 67

Options :

1« [Co(H,0),|Cl,

, % [Co(H,0), CI|CLLH,O

3.  [Co(H,0), CL, ]CI(H,0),



4% [Co(H,0), CI, |(H,0),

Question Number : 152 Question Id : 3838233032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

808 a8 addddod
List — 1 {Monomer/s) List — Il (Name of the polymer)

___________ b -1@dobey) | @be-1@OH0 Wh)
A | CE =CE, [ | Neoprene
I o | A
B | NH,(CH, ), NH,, HO,C(CH, ), CO.H |11 | Bekelit
' | 3888
C | C.H.OH, HCHO 1l | Teflon

ol % ?5
D| CH, =CH(Cl)-CH=CH, IV | Nylon 6,

i ? | Jer 6.6
The comect answer 15
HBN DITErS0
Options :

. = A—Il; B} C-1; D-1V

2w A=Il; B=1IV; C-II; D-1I

s x A—IIl; B-IV; C-1; D-II

4 x A~ B—I; G=1V; D~



Question Number : 153 Question Id : 3838233033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The functional groups involved in the conversion of glucose to gluconic acid and

gluconic acid to saccharic acid respectively are

HrE'eS o (rER8 eaoma, ArFRt eenod 45208 edoms &rd bod

) (Maah Meararen sduem

Options :

— CHO > ~CHOH
-

1. %

—CHO, —CH:0H
2. ¢

— CH:0H, —CHO
3. %

—CH:0H, ~CHOH
4, % i

Question Number : 154 Question Id : 3838233034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following the incorrect statement about chloramphenicol is

SO RIFS K 5020807 (808 FE3S’ & 528 HBSE ¢
Options :

It is a bacteriostatic drug

1 % B0 378228900 ATOOT 2.8 Hok



It is a broad spectrum antibiotic

, » VO OO 18O 8 DYed 0iroed2ad3re3s

It is a bactericidal drug

3 v VO 82285900 YO 2.8 HOD

It is used to treat typhoid
4 % A BIPONE D 0S8N TAHEFRS a°Cses"th

Question Number : 155 Question Id : 3838233035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A halogen compound X {C H.Br) on hydrolysis gave alcohol Y. The alcohol Y

undergoes dehydration with 20% H,PO, at 358 K. What is X?
28 TS e tai$S0 X (C,H,Br) 20 diand ww)Fd Y & ad08.
s Y 20% HPO, & 358 K 34 Ade)30e0 Fodhesod. X 287

Options :

, »(CH,),CBr
, % (CH;), CHCH, Br
, » CH,CH,CH,CH, Br

, » CH,CH(Br)CH,CH,

Question Number : 156 Question Id : 3838233036 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An alcohol X{C,H,,0) when reacted with conc. HCI and anhydrous ZnCl, produces
turbidty instantly. The alcohol X can be prepared from which of the following
reactions?

2.8 8902575 X(C,H,0) o med HClvBosn eamd ZnCl, & 5¢5g 2dam
S0LR S50 (urbidity) 238008, meFd X o 1306 B8 oo
oirdh Tabado)?

Options :
Reduction of 2-pentanone with NaBH,
| x 2-0085S& NaBH, & § 080

Reaction of isopropyl magnesium bromide with ethanal

, % VETOS AP DS DAYWAHO (SDE I8

Reaction of ethyl magnesium bromide with propanal

3 % [RDTESE HFS ) DD (S'DE SE§

Acid catalysed hydration of 2-methyl-1-butene
4 v 2-0BS-1-20583S @3 SIB)SE e G8GeD

Question Number : 157 Question Id : 3838233037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) ; Chlorobenzene is not formed in the reaction of phenol with

thionyl chlonde
Reason (R} In phenol, carbon — oxygen bond has partial double bond character
ADS0(A) : DS, HTTSE §BE 3¢; & 58 BokS D6
soR0R) awdS pi)e-edEs 20ral 8§ Bos 0f Bo Gotuod
The correet answer 15

SDYEAN AN
Options :

(A) and (R) are correct. (R) 1s the correct explanation of (A)
1 v (A) DOAW (R) &0 AODAD. (A) 80 (R) SO D38€d

(A) and (R) are correct, but (R) is not the correct explanation of (A)

, « (A) 005 (R) €0 HOTSD, 5 (A) 50 (R) SO DS 59

(A) is correct but (R) is not correct
3 % (A) DSOS SR (R) HOTSE 5°¢»

(A) is not correct but (R) is correct
4 % (A) SBBDIS 5°¢H R (R) SOTSE

Question Number : 158 Question Id : 3838233038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The pKa valugs of X. Y, Z respectively are 8.3, 7.1, 10.2. Whatare X, Y, £7
X, Y, Z o pK, densen Stowr 8.3, 7.1, 10.2. @ans X, Y, Z 20 2 7

Options :

OH

@,ou OH
O:N O:N HiC ’@

1.4



OH OH UGH
O0-N* : ; H:C
> % NO:
/@UH @,’UH @DH
3 x HC NO:
3 @OH @DH
4% O:N NO: NO:

Question Number : 159 Question Id : 3838233039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The reagents / chemicals X and Y that convert cyanobenzene to schiff's base are

DOVSBOAT A0 2D BT S8 P8 S Sosen [ Sarabaren X

SO0 Y &0 o?

Options:

(i) DIBAL-H NH,OH
, x (i) HoO

DIBAL — H, H20

7 NH:

2. ¥



« LAH 3 CHsOH

H:‘:O ! * NH:

Question Number : 160 Question Id : 3838233040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The correct statements of the following are
308 T8 DTS arjBsen
A)  Aniline forms a stable benzene diaronium chloride at 285K

285K 358 NOS DSBS BodS BohE A TTE & 28 hos
B}  N-Phenylethanamide 15 less reactive towards nitration than aniling

T HAS S O Loty N - DFDad5Da & drsles d8i.S
Cy  p - CH,CH,COCI is Hinsherg reagent

p - CH,C,H,COCI &rs) 220 5350
Options :

A & B only

|« A&B TS

A & C only
5, % A&C IS

B only
3 v B (&

4, %



C only
C (e



